Test 15
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13)

14) 162 =256 sq. in.

15) 32=9 sq. mi.

16) 64

17) 36

18) yes

19) 15:3,5, 15
30:2,3,5,6, 10, 15, 30
GCF=15

20) 3x3x5 :
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10 x 4 = 40 sq. ft.
10+4+10+4 =281t
232 =529 sq. in.
23+23+23+23=92in.
(1/2)(12)(5) = 30 sq. ft.
5+12+13=301ft.

16 x 16 = 256
36:2,3,4,6,9, 12,18, 36

42:2,3,6,7,14, 21, 42
GCF=6

Unit Test Il

h £.10_9:10_9
18 18 1 10
42 42 1 5
98 98 1 3 5
27 27 1 18 6
2,4 _24:4_

5 32 32 1 6

1,1 1

N 3X37 12
4.7 _28_14

8 5*10°50 " 25
2,1.2_1

9 5X3°15°%
3,1_3

10) 3*7=16
342_6_2

") 258~
1.1_ .1

12) %578

13) yes

14) no

15) yes

16) no

17) 28:2,4,7,14,28
54:2,3,6,9, 18, 27, 54
GCF=2

18)

19)

20)
21)
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23)
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27)

28)

29)
30)
31)
32)

33)

34)

N
x
N
=
@
x
]

B S sl
|.
|
I

N
(o]
~

+

n
o[}

+
+

+

+

I

o
(9 [

]
(oM}

wl=

+
wlw 0o VO Alw

+
wlw U ©ON AN

+

wlw ajo ©j0 Al N
wl=

—_
—_
o

-

>l
oo,

N
=

w
o<1 |V}
]
w
A]—=

7x3=21sq.ft.
122=144 sq. in.
(1/2)(8)(6) = 24 sq. ft.
9x9=81
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